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Test Series: November, 2021 
MOCK TEST PAPER 2 

FINAL (NEW) COURSE: GROUP – I  
PAPER – 1: FINANCIAL REPORTING 

Question No.1 is compulsory.  Candidates are required to answer any four questions from the 
remaining five questions. 

Wherever necessary, suitable assumptions may be made and disclosed by way of a note. 
Working notes should form part of the answers. 

Time Allowed – 3 Hours Maximum Marks – 100 
1. (a) PQR Holdings Limited is based in London and has Pound sterling ("GBP") as its functional and 

presentation currency.  On 1st April, 20X1, PQR Holdings Limited incorporated PQR India Limited 
as its wholly owned subsidiary in India.  PQR India will be engaged in trading of items purchased 
from PQR Holdings.  The shares of PQR India, having a face value of ` 10 each amounting to 
total of ` 500 crore, were issued to PQR Holdings in GBP on 1st April, 20X1.  

 PQR India has adopted Ind AS with effect from its incorporation.  In accordance with  
Ind AS, management of PQR India has concluded that its functional currency is Indian Rupee 
("INR"). Following is the summarized trial balance of PQR India as on 31st March, 20X2, being 
the reporting date of PQR India and PQR Holdings:  

 (Note: All amounts in the below mentioned trial balance are ` in crore)  

S. No. Particulars Debit 
Balances 

Credit 
Balances 

1. Share capital  - 500.0 
2. Securities premium reserve on issue of equity shares   - 150.0 
3. Retained earnings  - 110.0 
4. Long-term borrowings  - 30.0 
5. Deferred tax liability  - 10.0 
6. Income tax payable  - 25.0 
7. Import duty payable  - 5.0 
8. Employee benefits payable   7.5 
9. Sundry trade payables  - 2.5 

10. Property, plant and equipment (net of depreciation) 550.0 - 
11. Computer software (net of amortisation)  70.0 - 
12. Inventories purchased on 15th March, 20X2  200.0  

 (there is no indicator of impairment)    
13. Cash and bank balance  5.0 - 
14. Sundry trade receivables  17.0 - 
15. Allowance for doubtful trade receivables  - 2.0 

 Total  842.0 842.0 
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Additional information relating to property, plant and equipment, and computer software:  

Line item Date of acquisition 
Property, plant and equipment  30th April, 20X1  
Computer software  5th May, 20X1  

 PQR India has adopted the following accounting policy in relation to shareholders' funds to 
translate equity:  

Share capital  To be translated using historical exchange rate  
Securities premium  To be translated using historical exchange rate  
Retained earnings  To be translated using average exchange rate  

 Since the presentation currency of PQR Holdings is GBP, PQR India is required to translate its 
trial balance from INR to GBP. Following table provides relevant foreign exchange rates:  

Closing spot rate as on 1st April, 20X1  1 INR = 0.0123 GBP 
Closing spot rate as on 30th April, 20X1 1 INR = 0.0120 GBP 
Closing spot rate as on 5th May, 20X1  1 INR = 0.0119 GBP 
Closing spot rate on 15th March, 20X2  1 INR = 0.0108 GBP 
Closing spot rate as on 31st March, 20X2  1 INR = 0.0109 GBP 
Average exchange rate for the year ended 31st March, 20X2 1 INR = 0.0116 GBP 

 As the accountant of PQR India, you are required to do the following for its separate financial 
statements:  
(a)  Explain the principle of monetary and non-monetary items.  Based on this principle, 

bifurcate the line items of the trial balance into monetary and non-monetary items.   
(b)  Translate the trial balance of PQR India from INR to GBP.  (14 Marks) 

(b) Given the decreased revenue in financial year 20X1-20X2, management of PQR Ltd is keen to 
identify ways to reduce the overall impact on profit and loss.  A consultant has suggested that 
they could explore changing the basis of depreciation from SLM to hours-in-use but not entirely 
sure if this is permitted.  Annual depreciation charge for financial year 20X1-20X2 would be ` 25 
lacs using SLM and ` 7 lacs using new method.  This difference is significant for PQR Ltd.’s 
financial statements. 

 What are the considerations in determining whether a change in depreciation methodology is 
appropriate, and how should this change be accounted for?  Given the risk of charging lower 
depreciation per annum and the possibility that the asset will be depreciated over a period longer 
than it would otherwise be (under SLM basis), what other safeguards do you suggest, in order to 
ensure compliance with relevant standards in Ind AS and its framework? (6 Marks) 

2. (a) On 1st April, 20X1, Sun ltd purchased some land for ` 10 million (including legal costs of  
` 1 million) in order to construct a new factory.  Construction work commenced on 1st May, 20X1. 
Sun ltd incurred the following costs in relation with its construction: 
–  Preparation and levelling of the land – ` 3,00,000. 

–  Purchase of materials for the construction – ` 6·08 million in total. 

–  Employment costs of the construction workers – ` 2,00,000 per month. 

–  Overhead costs incurred directly on the construction of the factory – ` 1,00,000 per month. 
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–  Ongoing overhead costs allocated to the construction project using the company’s normal 
overhead allocation model – ` 50,000 per month. 

–  Income received during the temporary use of the factory premises as a car park during the 
construction period – ` 50,000. 

–  Costs of relocating employees to work at the new factory –        ` 300,000. 

–  Costs of the opening ceremony on 31st January, 20X2 –       ` 150,000. 

The factory was completed on 30th November, 20X1 (which is considered as substantial period of 
time as per Ind AS 23) and production began on 1st February, 20X2. The overall useful life of the 
factory building was estimated at 40 years from the date of completion. However, it is estimated 
that the roof will need to be replaced 20 years after the date of completion and that the cost of 
replacing the roof at current prices would be 30% of the total cost of the building.  

At the end of the 40-year period, Sun Ltd has a legally enforceable obligation to demolish the 
factory and restore the site to its original condition.  The directors estimate that the cost of 
demolition in 40 years’ time (based on prices prevailing at that time) will be ` 20 million.  An 
annual risk adjusted discount rate which is appropriate to this project is 8%.  The present value of 
` 1 payable in 40 years’ time at an annual discount rate of 8% is ` 0.046. 

The construction of the factory was partly financed by a loan of ` 17·5 million taken out on  
1st April, 20X1.  The loan was at an annual rate of interest of 6%.  Sun Ltd received investment 
income of ` 100,000 on the temporary investment of the proceeds. 

Required: 

Compute the carrying amount of the factory in the Balance Sheet of Sun Ltd at 31st March, 20X2. 
You should explain your treatment of all the amounts referred to in this part in your answer.  

(10 Marks) 

(b) On June 1, 20X2, entity D Limited plans to sell a group of assets and liabilities, which is classified 
as a disposal group.  On July 31, 20X2, the Board of Directors approved and committed to the 
plan to sell the manufacturing unit by entering into a firm purchase commitment with entity G 
Limited. 

 However, since the manufacturing unit is regulated, the approval from the regulator is needed for 
sale.  The approval from the regulator is customary and highly probable to be received by 
November 30, 20X2 and the sale is expected to be completed by 31st March, 20X3.  Entity D 
Limited follows December year end.  The assets and liabilities attributable to this manufacturing 
unit are as under:  

       (` in lakh) 

Particulars Carrying value as on 
31st December, 20X1 

Carrying value as on 
31st July, 20X2 

Goodwill 1,000 1,000 
Plant and Machinery 2,000 1,800 
Building  4,000 3,700 
Debtors 1,700 2,100 
Inventory 1,400 800 
Creditors  (600) (500) 
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Loans (4,000) (3,700) 
Net    5,500    5,200 

 The fair value of the manufacturing unit as on December 31, 20X1 is ` 4,000 lakh and as on July 
31, 20X2 is ` 3,700 lakh.  The cost to sell is ` 200 lakh on both these dates.  The disposal group 
is not sold at, the period end i.e., December 31, 20X2.  The fair value as on 31st December, 20X2 
is lower than the carrying value of the disposal group as on that date. 

 Required: 
(i) Assess whether the manufacturing unit can be classified as held for sale and reasons 

thereof. If yes, then at which date? 
(ii)  The measurement of the manufacturing unit as on the date of classification as held for sale. 
(iii) The measurement of the manufacturing unit as at the end of the year. (10 Marks) 

3. (a) Deepak started a new company Softbharti Pvt. Ltd. with Iktara Ltd. wherein investment of 55% is 
done by Iktara Ltd. and rest by Deepak.  Voting powers are to be given as per the proportionate 
share of capital contribution.  The new company formed was the subsidiary of Iktara Ltd. with two 
directors, and Deepak eventually becomes one of the directors of company.  A consultant was 
hired and he charged ` 30,000 for the incorporation of company and to do other necessary 
statuary registrations. ` 30,000 is to be charged as an expense in the books after incorporation 
of company.  The company, Softbharti Pvt. Ltd. was incorporated on 1st April 20X1. 

 The financials of Iktara Ltd. are prepared as per Ind AS. 

 An accountant who was hired at the time of company’s incorporation, has prepared the draft 
financials of Softbharti Pvt. Ltd. for the year ending 31st March, 20X2 as follows: 

Statement of Profit and Loss 
Particulars Amount (`) 
Revenue from operations 10,00,000 
Other Income   1,00,000 
Total Revenue (a) 11,00,000 
Expenses:  
Purchase of stock in trade 5,00,000 
(Increase)/Decrease in stock in trade (50,000) 
Employee benefits expense 1,75,000 
Depreciation    30,000 
Other expenses    90,000 
Total Expenses (b) 7,45,000 
Profit before tax (c) = (a)-(b) 3,55,000 
Current tax 1,06,500 
Deferred tax      6,000 
Total tax expense (d) 1,12,500 
Profit for the year (e) = (c) – (d) 2,42,500 
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Balance Sheet 

Particulars Amount 
(`) 

EQUITY AND LIABILITIES  
(1)  Shareholders’ Funds  

(a)  Share Capital 1,00,000 
(b)  Reserves & Surplus 2,27,500 

(2)  Non-Current Liabilities  
(a)  Long Term Provisions 25,000 
(b)  Deferred tax liabilities 6,000 

(3)  Current Liabilities  
(a)  Trade Payables 11,000 
(b)  Other Current Liabilities 45,000 
(c)  Short Term Provisions 1,06,500 
TOTAL 5,21,000 

ASSETS  
(1)  Non Current Assets  

(a)  Property, plant and equipment (net) 1,00,000 
(b)  Long-term Loans and Advances    40,000 
(c)  Other Non Current Assets    50,000 

(2)  Current Assets  
(a)  Current Investment 30,000 
(b)  Inventories  80,000 
(c)  Trade Receivables 55,000 
(d)  Cash and Bank Balances 1,15,000 
(e)  Other Current Assets    51,000 
TOTAL 5,21,000 

 Additional information of Softbharti Pvt Ltd.: 

i. Deferred tax liability of ` 6,000 is created due to following temporary difference: 

Difference in depreciation amount as per Income tax and Accounting profit  

ii. There is only one property, plant and equipment in the company, whose closing balance as 
at 31st March, 20X2 is as follows: 

Asset description As per Books As per Income tax 
Property, plant and equipment ` 1,00,000 ` 80,000 

iii. Pre incorporation expenses are deductible on straight line basis over the period of five years 
as per Income tax.  However, the same are immediately expensed off in the books. 
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iv. Current tax is calculated at 30% on PBT - ` 3,55,000 without doing any adjustments related 
to Income tax.  The correct current tax after doing necessary adjustments of allowances / 
disallowances related to Income tax comes to ` 1,25,700. 

v. After the reporting period, the directors have recommended dividend of ` 15,000 for the 
year ending 31st March, 20X2 which has been deducted from reserves and surplus.  
Dividend payable of ` 15,000 has been grouped under ‘other current liabilities’ alongwith 
other financial liabilities.  

vi. There are ‘Government statuary dues’ amounting to ` 15,000 which are grouped under 
‘other current liabilities’. 

vii. The capital advances amounting to ` 50,000 are grouped under ‘Other non-current assets’. 

viii. Other current assets of ` 51,000 comprise Interest receivable from trade receivables. 

ix. Current investment of ` 30,000 is in shares of a company which was done with the purpose 
of trading; current investment has been carried at cost in the financial statements.  The fair 
value of current investment in this case is ` 50,000 as at 31st March, 20X2. 

x. Actuarial gain on employee benefit measurements of ` 1,000 has been omitted in the 
financials of Softbharti private limited for the year ending 31st March, 20X2. 

The financial statements for financial year 20X1-20X2 have not been yet approved. 
 You are required to ascertain that whether the financial statements of Softbharti Pvt. Ltd. are 

correctly presented as per the applicable financial reporting framework.  If not, prepare the 
revised financial statements of Softbharti Pvt. Ltd. after the careful analysis of mentioned facts 
and information. (16 Marks) 

(b) Entity A is awarded a government grant of ` 60,000 receivable over three years (`40,000 in year 
1 and `10,000 in each of years 2 and 3), contingent on creating 10 new jobs and maintaining 
them for three years.  The employees are recruited at a total cost of `30,000, and the wage bill 
for the first year is ` 1,00,000, rising by `10,000 in each of the subsequent years.  Calculate the 
grant income and deferred income to be accounted for in the books for year 1, 2 and 3. (4 Marks) 

4.  (a) Ram Ltd. acquired 60% ordinary shares of ` 100 each of Krishan Ltd. on 1st October 20X1.  On 
31st March, 20X2, the summarised Balance Sheets of the two companies were as given below: 

 Ram Ltd. Krishan Ltd. 
Assets   
Property, Plant and Equipment   

Land & Buildings 3,00,000 3,60,000 
Plant & Machinery 4,80,000 2,70,000 

Investment in Krishan Ltd. 8,00,000 - 
Inventory 2,40,000 72,800 
Financial Assets   

Trade Receivables 1,19,600 80,000 
Cash    29,000   16,000 

Total 19,68,600 7,98,800 
Equity & Liabilities   
Equity Capital (Shares of ` 100 each fully paid) 10,00,000 4,00,000 
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Other Equity   
Other Reserves 6,00,000 2,00,000 
Retained earnings 1,14,400 1,64,000 

Financial Liabilities   
Bank Overdraft 1,60,000 - 
Trade Payable     94,200    34,800 

Total 19,68,600 7,98,800 

 The Retained earnings of Krishan Ltd. showed a credit balance of ` 60,000 on 1st April 20X1 out 
of which a dividend of 10% was paid on 1st November.  Ram Ltd. has credited the dividend 
received to its Retained earnings.  Fair value of plant and machinery as on 1st October 20X1 was 
` 4,00,000.  The rate of depreciation on plant & machinery is 10%. 

 Following are the increases on comparison of Fair value as per respective Ind AS with book 
value as on 1st October 20X1 which are to be considered while consolidating the Balance Sheets: 

Liabilities Amount Assets Amount 
Trade Payables 20,000 Land & Buildings 2,00,000 

Inventories 30,000 

Notes: 
I. It may be assumed that the inventory is still unsold on balance sheet date and the Trade 

Payables are also not yet settled. 

II. Also assume that the Other Reserves as on 31st March 20X2 are the same as was on  
1st April, 20X1. 

 Prepare consolidated Balance Sheet as on 31st March, 20X2. (16 Marks) 

(b)        Either 
Entity A purchased cattle at an auction on 30th June 20X1 

Purchase price at 30th June 20X1 ` 1,00,000 
Costs of transporting the cattle back to the entity’s farm  ` 1,000 
Sales price of the cattle at 31st March, 20X2 ` 1,10,000 

 The company would have to incur similar transportation costs if it were to sell the cattle at 
auction, in addition to an auctioneer’s fee of 2% of sales price.  The auctioneer charges 2% of the 
selling price, from both, the buyer as well as the seller. 

 Calculate the amount at which cattle is to be recognised in books on initial recognition and at 
year end 31st March, 20X2. (4 Marks) 

(b)       OR 
Mr. X has a 100% investment in A Limited.  He is also a member of the key management 
personnel (KMP) of C Limited. B Limited has a 100% investment in C Limited. 
Required 
(a) Examine related party relationships from the perspective of C Limited for A Limited. 
(b) Examine related party relationships from the perspective of C Limited for A Limited if Mr. X 

is a KMP of B Limited and not C Limited. 
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(c) Will the outcome in (a) & (b) would be different if Mr. X has joint control over A Limited. 
(d) Will the outcome in (a) & (b) would be different if Mr. X has significant influence over 

A Limited. (4 Marks) 
5. (a) Nivaan Limited commenced work on two long-term contracts during the financial year ended on 

31st March, 20X2. 
 The first contract with A & Co. commences on 1st June, 20X1 and had a total sales value of  

` 40 lakh.  It was envisaged that the contract would run for two years and that the total expected 
costs would be ` 32 lakh.  On 31st March, 20X2, Nivaan Limited revised its estimate of the total 
expected cost to ` 34 lakh on the basis of the additional rectification cost of ` 2 lakh incurred on 
the contract during the current financial year.  An independent surveyor has estimated at  
31st March, 20X2 that the contract is 30% complete.  Nivaan Limited has incurred costs up to  
31st March, 20X2 of ` 16 lakh and has received payments on account of ` 13 lakh. 

 The second contract with B & Co. commenced on 1st September, 20X1 and was for  
18 months.  The total sales value of contract was ` 30 lakh and the total expected cost is 
 ` 24 lakh.  Payments on account already received were ` 9.50 lakh and total costs incurred to 
date were ` 8 lakh.  Nivaan Limited has insisted on a large deposit from B & Co. because the 
companies had not traded together prior to the contract.  The independent surveyor estimated 
that on 31st March, 20X2 the contract was 20% complete. 

 The two contracts meet the requirement of Ind AS 115 ‘Revenue from Contracts with Customers’ 
to recognize revenue over time as the performance obligations are satisfied over time. 

 The company also has several other contracts of between twelve and eighteen months in 
duration.  Some of these contracts fall into two accounting periods and were not completed as at  
31st March, 20X2.  In absence of any financial date relating to the other contracts, you are 
advised to ignore these other contracts while preparing the financial statements of the company 
for the year ended 31st March, 20X2. 

 Prepare financial statement extracts for Nivaan Limited in respect of the two construction 
contracts for the year ending 31st March, 20X2. (12 Marks) 

(b) Discuss with reasons whether these events are in nature of adjusting or non-adjusting and the 
treatment needed in light of accounting standard Ind AS 10. 
(i) Moon Ltd. won an arbitration award on 25th April, 20X1 for ` 1 crore.  From the arbitration 

proceeding, it was evident that the Company is most likely to win the arbitration award.  The 
directors approved the financial statements for the year ending 31.03.20X1 on 1st May, 
20X1.  The management did not consider the effect of the above transaction in Financial 
Year 20X0-20X1, as it was favourable to the Company and the award came after the end of 
the financial year. 

(ii) Zoom Ltd. has a trading business of Mobile telephones.  The Company has purchased 1000 
mobiles phones at ` 5,000 each on 15th March, 20X1.  The manufacturers of phone had 
announced the release of the new version on 1st March, 20X1 but had not announced the 
price.  Zoom Ltd. has valued inventory at cost of ` 5,000 each at the year ending  
31st March, 20X1. 

 Due to arrival of new advance version of Mobile Phone on 8th April, 20X1, the selling prices 
of the mobile stocks remaining with Company was dropped at ` 4,000 each. 

 The financial statements of the company valued mobile phones @ ` 5,000 each and not at 
the value @ ` 4,000 less expenses on sales, as the price reduction in selling price was 
effected after 31.03. 20X1. 
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(iii) There as an old due from a debtor amounting to ` 15 lakh against whom insolvency 
proceedings was instituted prior to the financial year ending 31st March, 20X1.  The debtor 
was declared insolvent on 15th April, 20X1. 

(iv) Assume that subsequent to the year end and before the financial statements are approved, 
Company’s management announces that it will restructure the operation of the company.  
Management plans to make significant redundancies and to close a few divisions of 
company’s business; however, there is no formal plan yet.  Should management recognise 
a provision in the books, if the company decides subsequent to end of the accounting year 
to restructure its operations? (8 Marks) 

6. (a) On 1 April 20X1, Sun Limited guarantees a Rs.10,00,000 loan of Subsidiary – Moon Limited, 
which Bank STDK has provided to Moon Limited for three years at 8%.  

 Interest payments are made at the end of each year and the principal is repaid at the end of the 
loan term.  

 If Sun Limited had not issued a guarantee, Bank STDK would have charged Moon Limited an 
interest rate of 11%.  Sun Limited does not charge Moon Limited for providing the guarantee.  

 On 31 March 20X2, there is 1% probability that Moon Limited may default on the loan in the next 
12 months. If Moon Limited defaults on the loan, Sun Limited does not expect to recover any 
amount from Moon Limited. 

 On 31 March 20X3, there is 3% probability that Moon Limited may default on the loan in the next 
12 months. If Moon Limited defaults on the loan, Sun Limited does not expect to recover any 
amount from Moon Limited. 

 Analyze and provide the accounting treatment of financial guarantee along with journal entries as 
per Ind AS 109 in the books of Sun Ltd., on initial recognition and in subsequent periods till  
31 March 20X3. (12 Marks) 

(b) Blue Ltd. acquired 25% of the equity share capital of Green Ltd. on the first day of the financial 
year for ` 1,25,000.  As of that date, the carrying value of the net assets of Green Ltd. was  
` 3,00,000 and the fair value was ` 4,00,000.  The excess of fair value over the carrying value 
was attributable to one of the buildings owned by Green Ltd. having a remaining useful life of 20 
years.  Green Ltd. earned profit of ` 40,000 and other comprehensive income of ` 10,000 during 
the year.  Calculate the goodwill / capital reserve on the date of acquisition, Blue Ltd.’s share in 
the profit and other comprehensive income for the year and closing balance of investment at the 
end of the year. (8 Marks) 
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